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Stalinism in the Soviet Union – Chapter Questions
 Stalin’s rise to power
1. What is the significance of the Soviet Union’s hammer & sickle on the flag?  (H 128)
2. Describe “Socialism in one country”.  (D 56)
3. Describe Stalin’s rise to power.  (D 57)

4. Why did men confess to crimes they hadn’t committed in Stalin’s “show trials”?  (D 62)
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Describe the purge of Stalin’s Red Army. (D 63)

 The Five Year Plans & Collectivization
6. What was so urgent about industrialization in the USSR, according to the “Left Opposition”?  (H 129)

7. What was a kolkhoz?  (H 130 & D 60)

8. Who were the kulaks and what was their fate?  (H 131, D 60)
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9. Which industry was the only one to meet its target in the first 5-Year Plan?  (H 132 & D 58)
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10. Why would it be inaccurate to believe the first 5-Year Plan was a failure, according to question 9’s statistic?  (H 132 & D 58)
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11. How did the quality of life for industrial workers improve?  (D 59)


12. How did the quality of life for industrial workers become worse?  (H 132)


13. Why and how did Stalin abandon the Marxist principle of everyone working for the common good?  (H 133)


14. What role did the OGPU play in pointing the blame of any failures of the 5-Year Plans?  (H 133-34)


15. Describe how the USSR was modernized under Stalin’s 5-Year Plans.  (H 137-138)
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STALIN – COLLECTIVIZATION & 5 YEAR PLANS

Using your DeMarco text, page 59, you are to create 1 bar graph below that includes the following data:

Each industry is represented on the graph with 3 bars.  One bar for each year.  Do not include a bar for Stalin’s “target” figures.

The horizontal (x) axis indicates the years 1927, 1932, and 1937 for each industry

The vertical (y) axis indicates output and target (in million tons) for all industries






















































1.
Which of the industry’s came closest to meetings its target?

2.
Make a statement for Stalin’s 5-Year Plan as a success in the industrialization of the USSR.  Do not consider the human element.

3.  
Make a statement against Stalin’s 5-Year Plan, again discounting the human element.  (numbers only)

DBQ’s – Use these sources to answer the question that follows.


































Defend or argue against this statement.  Paragraph response required.

“Josef Stalin was necessary for Russia.”  

Be sure to use the documents and your graphs, along with any other information

you have gathered in this unit, in justifying your response.
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Source C – from a secondary text:





The emphasis was on state planning and the development of industry.  Russia moved into the ear of Stalin’s Five-Year plans when the shops were emptied of consumer goods because all efforts were concentrated on heavy industry.  A new policy of collectivization in agriculture was begun, whereby the creation of huge state farms drove peasants from the land into the factories…The new policy was also designed to smash the wealthy middle-class peasant, the Kulak, who had benefitted from the NEP.





Source A – propaganda poster, 1934, it is captioned:  “Peasants can live like human beings”.
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Source E – personal accounts of the Five-Year Plans:





‘The factory owners under the NEP did not force us to work in four shifts and there was enough of everything in the shops…Now we work in four shifts… and the shops are empty.’


(Russian factory worker)





‘I’m an old Bolshevik.  I worked in the underground against the Tsar and fought in the Civil War.  Did I do all that in order that I should now surround villages with machine-guns and order my men to fire indiscriminately at peasants?’


(GPU officer enforcing collectivization)





Source D – your graphs


Use your bar graphs to evaluate the growth in industry through 2 successive 5-Year Plans.
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Source B - victims of Ukraine’s Holodomor – 


“Killing by Hunger” in 1932 – up to 7.5 million


Ukrainians would starve to death








